Name : Quadrilateral Properties Using Diagrams
Chapter : Quadrilaterals

Grade : SSC Grade IX

EduSahara™ Assignment License : Non Commercial Use

1. Which of the following figures is a regular quadrilateral?
5 R u T

R Q

O P P Q R R S 5 T
square rectangle rhombus parallelogram trapezium

(i) square (ii) trapezium (iii) parallelogram (iv) rectangle (v) rhombus

2. In parallelogram MNOP, diagonals NP and MO intersect atQ. Then MN ||
P 0]

M N

(i) PM (i) NO (iii) OP (iv) NP (v) MO

3. In parallelogram PQRS, diagonals QS and PR intersect atT. Then RS ||
5 R

P Q

(i) SP (ii) QS (iii) PR (iv) PQ (v) QR

4. In parallelogram BCDE, diagonals CE and BD intersect atF. Then EB |
E D

B C

(i) DE (ii) CE (iii) BC (iv) CD (v) BD



5. In parallelogram EFGH, diagonals FH and EG intersect atl. Then FG ||
H G

E F

(i) GH (ii) HE (iii) FH (iv) EF (v) EG

6. In parallelogram OPQR, diagonals PR and OQ intersect atS. ThenOP =
R Q

o P

(i) PQ (ii) OQ (iii) RO (iv) PR (v) QR

7. In parallelogram ABCD, diagonals BD and AC intersect atE. ThenCD =
D C

A B

(i) BC (ii) DA (iii) AB (iv) BD (v) AC

8. In parallelogram GHIJ, diagonals H) and Gl intersect atK. ThenJG =
] I

G H

(i) GI (i) HI (i) 1J (iv) H (v) GH

9. In parallelogramHIJK, diagonals IK and HJ intersect atL. Thenl] =
K J

H I

(i) H) (i) IK (iii) JK (iv) HI (v) KH



10. In parallelogram DEFG, diagonals EG and DF intersect atH. Then AGDE =
G F

D E

(i) ADEH (ii) ADEF (iii)) AFGH (iv) AEFG (v) AFGD

11. In parallelogram DEFG, diagonals EG and DF intersect atH. Then AEFG =
G F

D E

(i) AFGH (ii) ADEF (iii)) AGDE (iv) ADEH (v) AFGD

12. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then APQN =
Q P

N ]

(i) AQNO (ii) AOPQ (iii) APQR (iv) ANOR (v) ANOP

13. In parallelogramPQRS, diagonals QS and PR intersect atT. Then APQR =
5 R

o Q

(i) AQRS (ii) ARST (iii) APQT (iv) ARSP (v) ASPQ

14. In parallelogram CDEF, diagonals DF and CE intersect atG. Then ZFCD =
F E

= D

(i) LEFG (ii) £4DEF (iii) £CDG (iv) £ZEFC (v) £CDE



15. In parallelogramPQRS, diagonals QS and PR intersect atT. Then LQRS =
S R

P Q

(i) £PQT (ii) 4£PQR (iii)) £RSP (iv) 4SPQ (v) ZRST

16. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then LOPQ =
R Q

o P

(i) £QRS (ii) £QRO (iii)) £ZROP (iv) £PQR (v) £LOPS

17. In parallelogram CDEF, diagonals DF and CE intersect atG. Then ZEFC =
F E

c D

(i) £CDG (ii) 4DEF (iii) £CDE (iv) 4ZFCD (v) LEFG

18. In parallelogram OPQR,diagonals PR and OQ intersect atS. ThenQS =
%
O P
(i) RO (ii) PQ (iii)) PS (iv) RS (v) OS

19. In parallelogram DEFG, diagonals EG and DF intersect atH. ThenDH =

G F
%
D E

(i) EF (ii) GD (iii) GH (iv) EH (v) FH




20. In parallelogram]KLM,diagonals KM and JL intersect atN. ThenKN =
M L

X

—

(i) KL (ii) MN (iii) JN (iv) LN (v) M]

21. In rhombusKLMN, diagonals KM and LN intersect atO. Then KL ||
N M

X

s

L

(i) LN (i) LM (iii) NK (iv) MN

22. In rhombus MNOP, diagonals MO and NP intersect atQ. Then OP ||
P 0

X

=

N

(i) NO (i) MN (iii) NP (iv) PM

23. In rhombusPQRS, diagonals PR and QS intersect atT. Then SP ||
5 R

X

o
0

(i) QR (ii) RS (iii) PQ (iv) QS



24. In rhombusEFGH, diagonals EG and FH intersect atl. Then FG |
H G

X

m
|

(i) GH (ii) EF (iii) FH (iv) HE

25. In rhombus]KLM, diagonals JL and KM intersect atN. Then )K=
M L

X

[

(i) LM (ii) M) (iii) KL (iv) KM

26. In rhombusABCD, diagonals AC and BD intersect atE. ThenCD =
D C

%

A B

—

i) BC (ii) BD (iii) AB (iv) DA

27. In rhombusNOPQ, diagonals NP and OQ intersect atR. ThenQN =
Q P

X

=

O

—

i) PQ (ii) OQ (iii)) OP (iv) NO



28. In rhombusMNOP, diagonals MO and NP intersect atQ. ThenNO =
o

-

X

M N

—

i) PM (ii) OP (iii)) MN (iv) NP

29. In rhombusJKLM, diagonalsJL and KM intersect atN. ThenAMJK =
M L

X

[

(i) ALM) (i) AJKL (iii) ANJK (iv) AKLM

30. In rhombusMNOP, diagonals MO and NP intersect atQ. Then ANOP =
P O

X

=

N

(i) AQMN (ii) APMN (iii) AOPM (iv) AMNO

31. In rhombusEFGH, diagonals EG and FH intersect atl. Then AGHE =
H G

X

i
-

(i) AEFG (ii) AFGH (iii) AHEF (iv) AIEF



32. In rhombusABCD, diagonals AC and BD intersect atE. Then AABC=
D C

A B

(i) ADAB (ii) ACDA (iii) AEAB (iv) ABCD

33. In rhombusABCD, diagonals AC and BD intersect atE. Then AEAB =
D C

A B

(i) AEAD (ii) ADAB (iii)) AECB (iv) AECD

34. In rhombusEFGH, diagonals EG and FH intersect atl. Then AIGF &
G

T

E F

(i) AIEF (ii) AIGH (iii) AHEF (iv) AIEH

35. In rhombusOPQR, diagonals OQ and PR intersect atS. Then ASQR &
Q

v

0 P

(i) AROP (ii) ASQP (iii)) ASOR (iv) ASOP



36. In rhombusPQRS, diagonals PR and QS intersect atT. Then ATPS &
S R

P Q

(i) ATPQ (ii) ATRQ (iii) ATRS (iv) ASPQ

37. In rhombusABCD, diagonals AC and BD intersect atE. Then ZDAB =
D C

A B

(i) £LABC (ii) £LABE (iii)) £BCD (iv) 4CDA

38. In rhombuslJKL, diagonals IK and JL intersect atM. Then £JKL=
L K

| J
() £L (i) ZUK (i) ZUM (iv) ZKLI

39. In rhombuslIJKL, diagonals 1K and]L intersect atM. Then ZKLI =
L K

| ]
() £L (i) ZJKL (iii) ZUK (iv) ZUM



40. In rhombusOPQR, diagonals OQ and PR intersect atS. Then £PSO #
R Q

X

o

P

(i) £RSQ (ii) £ZROP (iii) £QSP (iv) £OSR

41. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZQRP =
Q P

X

=

8]

(i) £NRQ (ii) £4PRO (iii) £ORN (iv) 4QNO

42. In rhombusMNOP, diagonals MO and NP intersect atQ. Then ZMQP =
P O

X

=

N

(i) £PQO (ii) £OQN (iii)) £ZNQM (iv) ZPMN

43. In rhombus]KLM, diagonals JL and KM intersect atN. Then ZLNK ==

=
=
~
=

J
(i) £JNM (i) £KNJ (iii) ZMNL (iv) ZMJK



44. In rhombus]KLM, diagonals JL and KM intersect atN. Then ZNJK =
M L

X

[—

(i) £LNLM (ii) £ZMJN (iii)) £ZKLN (iv) ZJNM

45. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then £Kl) =

[—

X

G H

(i) £KGH (ii) £HIK (iii) £JGK (iv) £GK]

46. In rhombus)KLM, diagonals JL and KM intersect atN. Then ZMN =
M L

&

—

(i) £LNLM (ii) £NJK (iii) £ZKLN (iv) ZJNM

47. In rhombusFGHI, diagonals FH and Gl intersect at). Then £LGH]J #
| H

X

M

G

() LF) (i) ZIF) (i) ZJFG (iv) ZJHI



48. In rhombusLMNO, diagonals LN and MO intersect atP. Then £ZPOL =
0 N

X

—

M

(i) £LLMP (ii) 4NOP (iii) £ZPMN (iv) £OPN

49. In rhombuslJKL, diagonals IK and JL intersect atM. Then ZMJK =
L K

IX

—_

i) £ZJM (ii) £LKLM (iii) £ZMLI (iv) £ZLMK

50. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZHIL=
K )

%

T

(i) LLKH (i) £L (iii) ZKU (iv) ZJKL

51. In rhombusFGHI, diagonals FH and Gl intersect at). Then ZHI) =
I H

X

-n

G

—

i) ZJIF (i) ZJH (iii) £4£FG) (iv) Z4JGH

52. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then)K=
] |

X

@

H

—

i) HK (ii) IK (iii) JG (iv) GK



53. In rhombusBCDE, diagonals BD and CE intersect atF. ThenCF=
E D

B C

(i) DF (ii) EF (iii)) EB (iv) BF

54. In rhombusLMNO, diagonals LN and MO intersect atP. ThenLP =
0 N

L M

(i) oL (ii) MP (iii) NP (iv) OP

55. In rhombusABCD, diagonals AC and BD intersect atE. ThenCE=
D C

A B

(i) BE (ii) DE (iii) DA (iv) AE

56. In trapeziumJKLM, JL and KM are diagonals. Then JK ||
M L

] K

(i) LM (i) KM (i) KL (iv) M (v) JC

57. In trapeziumNOPQ, NP and OQ are diagonals. Then PQ ||
Q P

N O

(i) NO (i) NP (iii)) OP (iv) QN (v) 0OQ



58. In kitelJKL, IK and JL are diagonals. Thenl) =
K

(i) JK (i) JL (i) L (iv) KL (v) IK

59. In kiteKLMN, KM and LN are diagonals. ThenNK =
M

K

(i) KM (ii) LN (iii) LM (iv) KL (v) MN

60. In kitelJKL, IK and JL are diagonals. ThenJK=
K

(i) KL (i) 1) (ii) JL (iv) IK (v) LI



61. In kite DEFG, DF and EG are diagonals. ThenFG=
F

D

(i) DE (ii) EG (iii) GD (iv) DF (v) EF

62. In kiteKLMN, KM and LN are diagonals. Then LZKLM =
M

K

(i) £KON (ii) £KOL (iii)) £ZMNK (iv) £ZMNL (v) ZKNL

63. In kite DEFG, DF and EG are diagonals. Then LZFGD =
F

D

(i) £DHG (ii) £DHE (iii) £4FGE (iv) £4DGE (v) LDEF



64. In kiteOPQR, OQ and PR are diagonals. Then LZOSR =
Q

9]

(i) £QRP (ii) £OPQ (iii) £OSP (iv) £ORP (v) £4QRO

65. In kitelJKL, IK and JL are diagonals. Then £IM] =
K

(i) £IML (i) £KLI (iii) 4K (iv) ZIY (v) £ZKLY

66. In kiteMNOP, MO and NP are diagonals. Then AOPM =
0

M

(i) APNO (ii) AONM (iii) AQON (iv) AQPM (v) APNM



67. In kitePQRS, PR and QS are diagonals. Then ARQP =
R

P

(i) ATRQ (ii) ARSP (iii)) ASQR (iv) ASQP (v) ATSP

68. In kitePQRS, PR and QS are diagonals. ThenATSP =
R

P

(i) ASQR (ii) ATRS (iii) ASQP (iv) ATQP (v) ATRQ

69. In kite OPQR, OQ and PR are diagonals. Then ASPO =
Q

0

(i) ARPQ (ii) ARPO (iii) ASQR (iv) ASRO (v) ASQP



70. In kiteGHIJ, Gl and HJ are diagonals. Then AKlj =
!

G

(i) AKIH (i) AKJG (iii) AJHG (iv) AJHI (v) AKHG

71. In kiteFGHI, FH and Gl are diagonals. Then AJHG =
H

F

(i) AIGH (ii) AJGF (i) AJHI (iv) AIGF (v) AJIF

72. In kite DEFG, DF and EG are diagonals. Then ZGDH =
F

D

(i) £GHF (ii) £ZHFE (iii) £ZHFG (iv) £ZEDH (v) 4DHG



73. In kiteJKLM, JL and KM are diagonals. Then £ZKJN =
L

J
(i) £MNL (ii) ZJNM (iii)) £ZMJN (iv) £ZNLM (v) 4NLK

74. In kiteJKLM, JL and KM are diagonals. Then ZNLM =
L

J
(i) £NLK (ii) £ZMNL (iii) £ZMJN (iv) ZJNM (v) ZKJN

75. In kiteBCDE, BD and CE are diagonals. Then LFDC=
D

B

(i) LEBF (ii) 4£CBF (iii) £4£BFE (iv) ZEFD (v) ZLFDE



76. In the given parallelogram, which of the following statements are true?

a) AJIF=AJGH
b) AGIF=AHIF

)
)
c) IF| GH
d) GJ=JF
e) AJFG = AJHI

I H

F G

(i) {b,d,e} (ii) {b,a,c} (iii) {b,a} (iv) {d,c} (v) {a,ce}

77. In parallelogram KLMN, diagonals LN and KM intersect atO. ThenNO =
N M

K L

(i) MO (ii) LO (iii)) NK (iv) KO (v) LM

78. In rhombusCDEF, diagonals CE and DF intersect atG. Then LCDE =
F E

C D

(i) £CDG (ii) 4EFC (iii) 4DEF (iv) 4ZFCD



Assignment Key

1) (i) 2) (iii) 3) (iv) 4) (iv) 5) (ii) 6) (v)
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